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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |

Question Number : 2 Question Id : 59345211949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE

Question Number : 3 Question Id : 59345211950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Question Label : Multiple Choice Question

Which of the IG]IG‘MHE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5
Options :

Impact factor
| o T T
h-index

g-index
-5

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,
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Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR
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Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST
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Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.

Question Number : 37 Question Id : 59345211984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

AT AES] H AU g9 AR = & AGHIT 99T & A= & HAwIT
Options :
Error

ap

Contradiction
R IR
3. %
Difference

4%
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Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Question Label : Multiple Choice Question

A 30-year-old G3P2 patient visits an antenatal clinic at 20 weeks. She reveals during
history that her first baby was 4.6 kg delivered by cesarean section, second baby was 4.8
kg delivered by c/section. Gynaecologists suspects gestational diabetes and orders a

GCT. The blood sugar levels after 50 gms of oral glucose are 206 mg/dl and the patient
is thus confirmed as a case of gestational diabetes.

All of the following are known complications of this condition except :
Options :
% Susceptibility for infection

5 % Fetal hyperglycemia



3 & Congenital malformations in fetus

Neonatal hypoglycemia
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Question Label : Multiple Choice Question

Total amount of iron needed by the fetus during entire pregnancy is :

Options :

L% 500 mg

) % 1000 mg

3 % 800 mg

4 300 mg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Drug not given in PCOD in a 30 year old lady with infertility :

Options :



L@ Tamoxifen

5 % Clomiphene

3 % Oral contraceptive

4 % Spironolactone
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Question Label : Multiple Choice Question
A 25-year-old G1PO female at 25 wks of gestation comes to you for antenatal check up.
She has had an uncomplicated pregnancy but has 5 years history of Genital Herpes
infection. She is usually asymptomatic and has had 3 flares in the past 5 years. She is
concerned about exposing her unborn child to infection. What is the most appropriate
counsel to offer to this patient ?
Options :

Administer one dose of acyclovir if she has active genital herpes at the time of
o delivery.

Administer prophylaxis with acyclovir from now and uptil delivery whether she has

- g ;
) % active hEl"[JEH or not

. Perform elective LSCS even if mother is asymptomatic at the time of delivery.



. Perform elective LSCS only if mother has active herpes at the time of delivery
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Question Label : Multiple Choice Question

A woman with H/O recurrent abortions presents with isolated increase in APTT. Most
likely cause is :

Options :
Lupus anticoagulant

Factor vii
© Von willebrands disease

4% Hemophilia
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A 36-year-old G1PO woman presents for her first prenatal visit late in her first trimester
of pregnancy; she complains of persistent vaginal bleeding, nausea and pelvic pain.
Physical examination is notable for a gravid uterus larger than expected for gestational
age. Fetal heart tones are absent. The patient has a medical history significant for herpes
and gonorrhea infections.

Which of the following is most likely to be true ?
Options :
> B hcg levels will be higher than normal

5 % B hcg levels will be lower than normal

3 % Uterus will be of normal levels

4 % TSH levels will be increased
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Question Label : Multiple Choice Question



A 25 year old female is 5 months pregnant and presents to her obstetrician along with
her first child. She has not received any prenatal care. She thinks she has gained
adequate weight and her pregnancy has been uncomplicated till date. Her past medical
history is notable for hypertension for which she is currently taking enalapril.

» Sheis 168 cms (5' 6") tall, weight is 59 kg, B/P = 120/84 mm of hg and fundal ht is
17 cms. Fetal movements are appreciated and FHR = 140/min.

«  Results of dipstick are negative.

Which of the following tests should be preformed ?
Options :
| % CVS

) % Grp B strepto coccal testing

3 % Triple test

4« USG of fetal kidneys
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Question Label : Multiple Choice Question

A pregnant female developed idiopathic cholestatic jaundice.The following condition is
not associated :

Options :

% Intense itching



, % SGOT, SGPT less than 60 IU

3@ Serum bilirubin > 5 mg/d]

4% Markedly raised levels of alkaline phosphatase
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Question Label : Multiple Choice Question

A 26 yr. old primigravida with a twin gestation at 30 weeks presents for a USG. The
sonogram indicates that the fetuses are both male and the placenta appears to be
diamniotic and monochorionic. Twin B is noted to have oligohydramnios and to be
much smaller than twin A. In this clinical scenario, all of the following are concerns for
twin A except :

Options :

|« CHF

) Anemia

3 % Hydramnios

4% Widespread thromboses
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Question Label : Multiple Choice Question

A 24 yr. old primi female at term, has been dilated to 9 cms for 3 hrs. The fetal vertex is

at Rt occipito posterior position and at +1 station. There have been mild decelerations for

the last 10 mins. Twenty mins back fetal scalp Ph was 7.27 and now it is 7.20. Next line

of management is :

Options :
| % Wait and watch

) % Repeat scalp ph after 15 mins

3 ® Midforceps rotation

4 LSCS
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Question Label : Multiple Choice Question

An abnormal attitude is illustrated by :
Options :

| % Breech presentation

) Face presentation

3 ® Transverse position



4 % Occiput posterior
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Question Label : Multiple Choice Question

Schwanger shaft protein is the other name of :

Options :

|« HCG

2. Pﬂpp—l

3 Pregnancy specific beta 1 glycoprotein

4 % Activin
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Question Label : Multiple Choice Question

The following changes occur in urinary system in pregnancy except :
Options :

_ Increased GFR
1. %



, % Increased RBF

3 % Hypertrophy of bladder musculature

[ .1 [ I"F'II i I.‘
4 Increased activity of ureters
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Question Label : Multiple Choice Question

Syndrome of multiple congenital anomalies including microcephaly, cardiac anomalies
and growth retardation has been described in children of women who are heavy users of :

Options :

| % Amphetamines

5 % Barbiturates

5 w Heroin

4 Ethyl alcohol
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A 27 yr. old G3P2002 who is 34 weeks gest. age feeling the decreased fetal movements
(once/hr) for past several hrs. She is healthy, has had regular prenatal care, and denies
any complications till date. How will you counsel the patient ?

Options :
| % Instruct the patient to go to labor and delivery for a contraction stress test.

Reassure the patient that one fetal movement per hr is within normal limits and she

5 % does not need to worry.

Counsel the patient that the baby is probably sleeping and that she should continue
to monitor fetal kicks. If she continues to experience <5 kicks/hr by morning, she

3 % should call you back.

. Instruct the patient to go to labor and delivery for a nonstress test.
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Question Label : Multiple Choice Question
A 26 year old primi patient presents to the prenatal clinic for the first time at 26 weeks of
oestation. She reveals she has been taking cigratte daily and has habit of taking marijuana
almost once in 2-3 days. Her past medical history is significant of chlamydia infection-
USG herniation of cerebellum through foramen magnum and frontal bossing and
lumbosacral kyphosis. Which of the following steps could have prevented this condition ?

Options :

_ Cessation of marijuana.



% Cessation of smoking.

3@ Taking vitamins before conceiving and continuing them after conceiving.

., Early Ut of Chlamydia.
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Question Label : Multiple Choice Question

In which of the following scenarios is D and C not indicated ?
Options :
Removal of retained products of conception.

) Uncomplicated endometrial biopsy.

. Insufficient endometrial biopsy in patient with strong risk of endometrial cancer.

. Molar pregnancy.
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If the patient's secondary amenorrhea was due to anorexia nervosa which of the
following laboratory findings would most likely be present ?

Options :

L% High FSH, High LH, Low estrogen

, % Normal FSH, Normal LH, Normal estrogen

3 Low FSH, Low LH, Low estrogen

4 % Low FSH, Low LH, High estrogen
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Question Label : Multiple Choice Question

What is the pregnancy rate following adhesiolysis for moderate intrauterine adhesions in
a patient with three or more unsuccessful pregnancies ?

Options :

% 93%

, @ 15%
3. % 04%

4w 18%
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Question Label : Multiple Choice Question

What is the most likely condition causing the triad of dysmenorrhea, infertility and
dyspareunia ?

Options :

| % Pelvic Inflammatory disease

, w Polycystic ovary disease

3 Endometriosis

4 % Cervical cancer
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Question Label : Multiple Choice Question

A 32 year old woman begins medical treatment for endometriosis. After 2 months the
patient returns to the physician complaining of hot flashes, vaginal dryness, loss of libido
and mood swings. What type of medication was the patient prescribed ?

Options :

L GnRH analogue

5 % Androgenic agent



3 % Combined oral contraceptive pills

4% Progestins
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Question Label : Multiple Choice Question

All of the following influence the rate of recurrence of endometriosis after laparoscopy
except :

Options :

| % Stage of the disease

) Depth of lesions
, % Occurrence of previous surgery

4% Age of patient
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Question Label : Multiple Choice Question

Ms. Tina started her periods at age 13. We call precocious puberty when menarche
occurs before the age of :

Options :



| % 8 years

5 % O years

3 10 years

4 % 11years
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Question Label : Multiple Choice Question

A 30 year old female presents to the clinic five days after unprotected intercourse. The
patient is married with three children and wishes to avoid becoming pregnant for at least
four more years. Currently, she is not using any contraceptive to prevent pregnancy. The
patient has no significant past medical history and has been pregnant on three occasions,
with all of the pregnancies proceeding to term deliveries. What form of emergency

contraception is most appropriate for this patient ?

Options :
COCs (Combined oral contraceptive pills)

1. ®
) Copper IUCD

5 % Cervical cap

4 % Levonorgestrel
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Question Label : Multiple Choice Question

A variety of etiologies can be the cause of abnormal uterine bleeding in a
postmenopausal woman, including polyps, endometrial hyperplasia, atrophic
endometrium, fibroids and endometrial carcinoma, If 100 postmenopausal patient present
with abnormal uterine bleeding, how many patients would likely be diagnosed with
endometrial carcinoma ?

Options :

1.sgl

4. % 20
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Question Label : Multiple Choice Question
Choose the best statement in regard to genetic counselling :
Options :
If no genetic basis is known for a condition, there is little use in genetic counselling
| % for the parents.



Less anxiety is caused by performing a test as soon as possible and discussing the
, % condition suspected with results available.

A discussion regarding termination should not be raised with the parents unless a
5 % testresult has shown a serious condition.

4 A consent form should be signed prior to genetic tests being carried out.
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Question Label : Multiple Choice Question

Which of the following mechanism of genetic defect causes Lynch Syndrome ?
Options :
| % Mutation in DNA synthesizing proteins

, % Mutation in p53
, % Mutation in the RB gene

4 Mutation in DNA mismatch repair genes
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A long time patient of yours comes in for an unscheduled visit "for counselling”
according to your receptionist. She is a 66-year-old G2P2 and when she arrives you
begin with open ended questions. You discover that one of her closest friends recently
died of endometrial cancer. She is sad and scared. After screening her for depression
with the recommended two question screen, you delve into a discussion of her fears. You
find that she would like you to screen her for endometrial cancer. What is the appropriate
screening tool for endometrial cancer in an asymptomatic patient ?

Options :

L% Endometrial biopsy

, % Transvaginal ultrasound
5 % Transabdominal ultrasound

4« Currently there is not a recommended screening test.

Question Number : 69 Question Id : 59345212016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A 72 year old postmenopausal patient tells you that she experiences a greater feeling of
fullness after "standing for a long period of time." Why might this phenomenon occur ?
Options :

| % Standing for a prolonged period of time increases the abdominopelvic blood flow.

) % Standing for a prolonged period of time decreases cardiac preload.



Standing for a prolonged period of time causes an increase in intra-abdominal
ressure.
3.0 P

Standing for a prolonged period of time causes increased blood flow to the legs,

4% thereby decreasing abdominopelvic blood flow.
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Question Label : Multiple Choice Question
A 65 year old G3P3 is referred to your clinic by a primary care physician for evaluation

of suspected pelvic organ prolapse. The patient complains of a feeling of heaviness in her
pelvic region for a year and occasional urinary frequency for the past few months.
Uterine prolapse is diagnosed. Your attending states that laxity of the levator ani muscles
plays a large role in uterine prolapse. Probing your knowledge of pelvic anatomy he asks,
"The nerve innervating the levator ani muscles courses through which of the following
paths" ?
Options :
Arising from the sacral plexus, it exits the pelvis through the greater sciatic foramen
below the piriformis muscle, curves in front of the ischial tuberosity, pierces the

L% fascia lata and travels forwards beneath the superficial fascia of the perineum.



Arising from the sacral plexus, it exits the pelvis through the greater sciatic foramen
between the piriformis and coccygeus muscles, crosses the sacrospinous ligament
close to its attachment to the ischial spine and reenters the pelvis via the lesser

) sciatic foramen and before traveling forwards to the perineum.

Arising from the lumbar plexus, it emerges from the lateral border of the psoas
major, passes obliquely across the iliacus, perforates the transversus abdominnis and

then descends through the superficial inguinal ring heading towards the perineum.

Arising from the lower lumber plexus, it descends through the psoas major, emerges
near the brim of the pelvis to pass behind the common iliac vessels and lateral to the
internal iliac vessels, descends along the lateral border of the lesser pelvis and exits

4% the pelvis through the obturator canal.
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Question Label : Multiple Choice Question

Women who suffer from uterine fibroids can have a family history of this pathology. If a
woman has a family history of first degree relatives with uterine fibroids, how much
increased risk do they have for developing them as well ?

Options :

L% 1.5 fold increased risk

5 2.5 fold increased risk



3 % 10 fold increased risk

4 » Noincreased risk

Question Number : 72 Question Id : 59345212019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which statement is correct regarding general examination in pregnancy ?
Options :

L% The abdomen should always be palpated lying flat.

, % Breast examination should be conducted as part of routine antenatal care.

3 Approximately 80 per cent of women have an audible murmur at 12/40.

4 % A symphysis-fundal height measurement should be plotted at every visit after 16/40.
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Question Label : Multiple Choice Question

A thirtyseven year old woman attends for a routine dating scan. She asks you in detail
what information will be obtained from the scan. Which of the following will not be
possible ?

Options :



| % Accurate dating of the pregnancy.
) The detection of placenta praevia

5 w The early detection of twin pregnancies.

4 % The detection of a failed pregnancy.
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Question Label : Multiple Choice Question
Which option is correct regarding diagnostic ultrasound ?

Options :
| # Itemploys the use of low intensity, high-frequency sound waves.

Between 12 and 20 weeks, the crown rump length and the femur length are the most
) % reproducible assessment of gestational age.

It can be used to determine chorionicity accurately in twin pregnancy at the 20/40
3 % Scan.
. An increase in nuchal translucency is associated with cardiac defects.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is notf an increased risk in multiple pregnancy ?
Options :

Vi
L Placenta praevia

5 % Diabetes mellitus

3 % Pre-eclampsia

4% Malpresentation
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Question Label : Multiple Choice Question

Which statement is most accurate regarding cervical cerclage ?
Options :
In a high-risk patient it should be performed as soon as practical after confirmation
L% of intrauterine pregnancy.

Is a suitable procedure in any woman with a history of delivery between 20 and 26
5 % weeks.

_ Should be performed using an absorbable suture material.



May be placed using a transvaginal approach.

Question Number : 77 Question Id : 59345212024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

You review a thirtythree year old woman with a history of congenital heart disease in
the antenatal clinic. In making a plan for the management of her pregnancy, which step is
least appropriate ?

Options :

% Booking a detailed fetal cardiology scan.

5 % Avoiding anaemia and prescribing supplementary iron if necessary.

3 % Prophylactic antibiotics should operative delivery be required.

4 A birth pool to provide helpful extra analgesia.
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Question Label : Multiple Choice Question

Which of the following is correct regarding hyperthyroidism in pregnancy ?
Options :

- Should be treated surgically rather than with carbimazole.



) % Can be diagnosed by total T4 measurements.

3 @ More than half are due to Grave's disease.
The main complications for the fetus include growth restriction and fetal

4 % bradycardia.
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Question Label : Multiple Choice Question

Which of the following is least accurate regarding adrenal disease in pregnancy ?
Options :

_ Cushing's syndrome may resemble the features of normal pregnancy.

Addison's disease may be difficult to diagnose in pregnancy due to changes in
, % steroid profiles.

Phaeochromocytoma may be diagnosed using 24-hour urine catecholamine testing.

. Steroid replacement therapy should be reduced to allow normal delivery.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The following are correct regarding thalassaemias except :
Options :

- They represent the most common genetic blood disorders.

) They result from an amino acid substitution.

3 % Alpha-thalassaemia major is incompatible with intrauterine.

4 % It is important to screen the partner.
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Question Label : Multiple Choice Question

Choose the best option with regard to a non-immune pregnant woman with an exposure
to chickenpox :

Options :

L% Should be given the varicella zoster vaccine as soon as possible after exposure.

. Should be given varicella zoster immunoglobulin as soon as possible after exposure.

5 % Does not need intervention unless symptoms of chickenpox occur.

4 % Should not be treated with acyclovir in the third trimester.
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Question Label : Multiple Choice Question

Choose the option that is the greatest contraindication to epidural anaesthesia :
Options :

| % Previous treatment with anticoagulants.

5 % Patients receiving narcotics.
3 % Hypertension in pregnancy.

4 Hypovolagmia.
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Question Label : Multiple Choice Question

As the obstetric SHO on call, you are preparing to perform a ventouse delivery. Which of
the following is nof mandatory to ensure ?

Options :

| ¢ Gestation less than 35 weeks

5 % The cervix is fully dilated

3 ® Adequate maternal analgesia



4 % Empty bladder
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Question Label : Multiple Choice Question

Choose the option that is less common after Caesarean delivery than after vaginal
delivery :
Options :

“ Pulmonary embolism

., Postpartum haemorrhage

3 % Post-natal depression

Amniotic fluid embolism
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Question Label : Multiple Choice Question

Which of the following reasons for performing Caesarean section contributes least to the
total Caesarean section rate ?

Options :



L% Malpresentation

5 Placenta praevia

3 % Previous Caesarean Section

4 % Dystocia
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Question Label : Multiple Choice Question

Which statement is frue regarding mental illness in pregnancy ?
Options :
The majority of women with postpartum psychiatric disorders have pre-existing
mental illness.
1. %
In women with pre-existing psychiatric disorders, these usually improve during
, w Ppregnancy.

3 % The incidence of admission with puerperal psychosis is approximately 2 per cent.

. Panic attacks should not be considered a feature of normal pregnancy.
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Question Label : Multiple Choice Question

NICE guidelines would recommend the best treatment of a forty-year-old woman with
regular, heavy periods who smokes 20 cigarettes a day, has a BMI of 40 and has a
normal-size, anteverted uterus on ultrasound scan and who is sexually active.

Options :

| » TAH

) Mirena

; » TCRE

4% Combined oral contraceptive pill
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Question Label : Multiple Choice Question

A patient presents with vulval itching, sore vagina and a profuse, white, curdy discharge
with erythema and redness at the introitus. The likely diagnosis is :

Options :

_ Bacterial vaginosis

) % Trichomonas vaginalis



3 Candida

4% Chlamydia
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Question Label : Multiple Choice Question

Choose from below the single best contraceptive method for a fortyfive-year-old woman
with a BMI of 40, smoker with multiple fibroids, who is in a stable relationship, whose
family is complete and who has had a peritonitis secondary to appendicitis in the past.

Options :

- Combined oral contraceptive pill

) % Laparoscopic clip sterilization

3 % Mirena

4 Progesterone-only pill
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Question Label : Multiple Choice Question



A nineteen year-old-girl is admitted with pelvic pain, a positive pregnancy test and a
3 cm viabe ectopic pregnancy seen in the right fallopian tube on ultrasound. She has
already had a left saplingectomy for a previous ectopic. The best management would be :
Options :

L% Laparoscopic salpingectomy

) Laparoscopic salpingostomy

5 % Conservative management with serial BHCGs

4 % Laparotomy
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Question Label : Multiple Choice Question

The most suitable treatment for a thirty four-year-old woman with minimal
endometriosis on laparoscopy, who has been trying to conceive for two years and has
pelvic pain, is :

Options :

L ¢ Laser ablation to endometriosis/excision of the endometriosis

GnRH analogues
2. % -

5 % Danazol



4 % Progesieron
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Question Label : Multiple Choice Question

A seventeen-year-old girl who is not sexually active presents with left iliac fossa pain.
An ultrasound scan shows a 5 cm cyst on the left ovary which is complex in nature, with
solid, calcified elements and fatty deposits noted on MRI. The likely diagnosis is :

Options :
Thecal luteal cyst
1. % i}

5 % Tubo-ovarian abscess

3 % Serous cystadenoma

4 Dermoid cyst
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Question Label : Multiple Choice Question

The most appropriate treatment option for an eighty-year-old woman with a BMI of 25
presenting with post-menopausal bleeding and found to have Stage la endometrial
adenocarcinoma on MRI and hysteroscopy is :

Options :



| % Polypectomy and Mirena

TAH/BSO in a local centre
2.9

3 % TAH/BSO in a cancer centre

4 % TAH/BSO and radiotherapy
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Question Label : Multiple Choice Question

Management of a cervical smear showing moderate dyskaryosis is :

Options :

| % Repeat smear in six months

5 % HPV vaccination

3@ Colposcopy and biopsy

4% LLETZ procedure
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Question Label : Multiple Choice Question



The management of a thirtyeight-year-old woman whose family is complete, with a BMI
of 30 and who has urodynamically proven stress incontinence and a 4/5 score on the
Oxford Grading Scale, would be :

Options :

L% Pelvic floor exercises

, » TVT

3 % Anterior repair

4 % Colposuspension
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Question Label : Multiple Choice Question

The procedure most suitable for the investigation of pelvic pain is :
Options :

L% Cystoscopy

) % Hysteroscopy

3 % Hysterosalpingogram

4 Laparoscopy



Question Number : 97 Question Id : 59345212044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

You are called to a maternity ward to see a 23 year old primi patient who had delivered a
2.7 ke baby boy 2 days back. She had a normal vaginal delivery and placenta delivered
spontaneously. Now she complains of bloody vaginal discharge with no other signs. O/E
you notice a sweetish odour bloody discharge on the vaginal walls and introitus. Sterile
pelvic examination shows a soft non tender uterus. Her P/R-78/min, B/P-110/76 mm of
hg, temp-37*C,R/R-16/min. Her WBC count =10,000 with predominant granulocytes.
What is the most appropriate step ?

Options :
“ Currettage

“ Oral antibiotics

3 Reassurance

Order urinalysis
4. % y
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Question Label : Multiple Choice Question

Supine hypotension is characteristic of :

Options :



L% First trimester of pregnancy

» 2nd trimester of pregnancy
3rd trimester of pregnanc
3 preg y

4 % Twin pregnancy
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Question Label : Multiple Choice Question

Treatment of choice for genital warts in pregnancy is :
Options :

" Salicyciic acid with lactic acid solution

5, Imiquimod

3 % Podophylotoxin

4 Cryotherapy
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Question Label : Multiple Choice Question

Thirty years old G4P3L3 with 32 weeks pregnancy with single live fetus in cephalic
presentation, patient complains of easy fatiguability and weakness since last 3 months
which has gradually increased over last 15 days to an extent that she gets tired on doing
household activities. Patient also complaints of breathlessness on exertion since last 15
days. Patient gets breathless on climbing 2 flight of stairs. It is not associated with
palpitations or any chest pain. There is no history of pedal edema, sudden onset
breathlessness, cough or decreased urine output. There is no history of asthma or chronic
cough. There is no history of chronic fever with chills or rigors. There is no history of
passage of worms in stool nor blood loss from any site. There is no history of easy
bruisability or petechiae. There is no history of yellow discoloration of urine, skin or
eyes. She did not take iron folate prophylaxis throughout her pregnancy.

» She is suspected to be anemic and her blood sample was ordered for examination
which showed.

» Hb7.49m% (12 - 14 gm%)
»  Het22 % (36 — 44%)
«  MCV721l(80-971l)
»  MCH 25 pg (27 - 33 pg)
MCHC 30 % (32 — 36%)
Peripheral smear shows microcytic hypochromic RBCs with anisopoikilocytosis
» Naked eye single tube red cell osmotic fragility test (NESTROFT) is negative.
What is the most probable diagnosis ?

Options :

Thalessemia
1. %



) [ron deficiency anemia

3 % Megaloblastic anemia

4% Vit B12 deficiency anemia



